#HEX—TIK2 (A48

THM4FE3AS

RELAZTRR/KE ERKEABRGERBEE

BRoKEFRE - 9:00

KERBRER EFRHFKE BKHF EK )

H Xz [R | KE | & E| pH [FLAY EE EE | B ES v | " &
= BEWM|1F Y Ar |(B&X
C G E mg/l | mg/l | mg/l | mg/l | mg/l | mg/l AE)
1 i 9.2 9.2 4.4 1.72 15
2 g 1.1 10.0 5.7 7.85 56. 7 70.0 138 10.3 0.22 <0.02 15
3 i 11.0 10.3 5.9 7.80 17
4 s 10.0 1.3 4.6 7.88 20
5 i 9.0 9.6 5.2 7.82 19
6 s 10.0 10.0 8.9 7.76 16
1 i 7.8 9.2 1.5 7.81 17
8 s 10.5 9.1 5.2 7.68 20
9 i 10.2 9.8 5.9 7.73 20
10 i 9.8 10.6 6.6 7.66 18
1 i 12.0 1.1 6.2 7.75 16
12 i 12.5 11.3 7.3 7.78 29
13 i 14.0 1.8 13.1 7.7 20
14 i 17.6 12.7 9.4 7.80 14
15 g 18.2 14.2 5.3 7.81 55.8 69.8 150 1.3 0.29 <0.02 22
16 g 15.0 14.0 6.5 7.72 29
17 g 13.0 12.8 7.4 7.64 32
18 g 12.0 12.2 8.9 7.70 25
19 g 14.0 12.1 9.7 7.63 83
20 i 12.0 10.9 29.1 7.47 81
21 g 1.2 1.1 16.5 7.64 29
22 el 8.5 10.7 6.9 7.52 13
23 i 7.2 10.7 6.9 7.69 19
24 i 10.0 11.2 7.2 7.67 23
25 i 10.0 10.8 7.4 7.60 21
26 g 15.3 12.2 5.5 7.69 40
27 5] 17.0 12.8 1.3 7.68 42
28 i 17.3 13.6 56.2 7.59 71
29 g 17.2 12.6 16.3 7.60 27
30 g 17.2 12.5 10.7 7.65 28
31 i 17.5 14.4 9.2 7.67 26

1y 12.5 11.4 10.4 | 7.70 | 56.3 69.9 144 10.8 | 0.26 <0.02

1= 18.2 14. 4 56.2 7.88 | 56.7 70.0 150 11.3 ] 0.29 <0.02

=IE 1.2 9.1 4.4 7.417 b5.8 69.8 138 10.3 | 0.22 <0.02




R —IK2 (A 4R

TMAEIAS

REAZTRRAKE KEARBRBEE (ERH$KIS)

FEKEERT 9:00

KEBHARBRKER (BER%KE Bkt GRK) )
H Xix Km | KE|A E| pH [FILAY EE AFE | EtY % vy | ® &
= BEW | 1 * Hy
°C °C E mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 i 9.2 9.0 2.7 7.54
2 & 1.1 9.7 1.4 7.54 50. 4 72.2 134 10.0 0.07 <0.02
3 i 11.0 10.0 1.6 7.48
4 i 10.0 10.8 1.3 7.52
5 i 9.0 10.0 1.9 7.55
6 i 10.0 10.5 1.8 7.42
7 i 7.8 10.2 1.7 7.44
8 i 10.5 9.8 1.4 7.48
9 i 10.2 9.2 1.6 7.29
10 i 9.8 10.5 2.0 7.38
11 i 12.0 11.0 1.5 7.48
12 i 12.5 1.1 1.7 7.4
13 i 14.0 12.0 1.8 7.49
14 i 17.6 13.1 2.8 7.60
15 £ 18.2 13.8 2.0 7.54 53.7 73.1 147 1.3 0.06 <0.02
16 g 15.0 14.1 1.9 7.43
17 g 13.0 13.4 2.0 7.40
18 g 12.0 13.0 1.3 7.43
19 g 14.0 12.7 1.8 7.44
20 i 12.0 1.7 1.6 7.14
21 g 1.2 1.7 1.7 7.32
22 5] 8.5 1.5 1.4 7.27
23 i 7.2 11.0 1.3 7.38
24 i 10.0 10.7 1.5 7.39
25 i 10.0 10.7 1.7 7.35
26 g 15.3 1.5 1.7 7.51
27 Gl 17.0 13.1 1.4 7.44
28 i 17.3 13.2 1.9 7.34
29 g 17.2 13.0 1.7 7.25
30 g 17.2 13.5 1.4 7.39
31 i 17.5 12.9 1.9 7.43
Ty 12.5 11.6 1.7 7.42 | 52.1 72.7 14 10.7 0.07 <0.02
== 18.2 14.1 2.8 7.60 | 53.7 73.1 147 11.3 | 0.07 <0.02
=IE 1.2 9.0 1.3 7.14 | 50.4 | 72.2 134 10.0 | 0.06 <0.02




